@ x+y

@ x-2

® x-y+2

@ x+y+2



T Fd-ad’-—a+19 A7t old A2 nE = A

@ a*+1 © a*-1 © a+1
® a-1 @ a2 +1
@ 17 @ 2 7 ® 3 7 @ 4 7 G %



3. 6xy—-8x-9y+12 = (ax+b)(cy+d) N a+b+c+d2 S
T-SFH?

D 1 @ 2 3 0 @ -1 B -2



4.

X = 2x—y? 4+ 2y & Rk EY
(x+ay)(x—by +c) 7F HAk ol a + b+ ¢ 2] G227



5. ta dgEs] A o8 A4S B A=Y (Fa>0,b>0)

Ayl dy -1 = - (D2 -+ 1) =2 - (y-1)?2 =
(x+2y-1)(x=2y+1)

® a*+ 2ab+ b? = (a + b)?
@ a®-2ab + b* = (a-b)*
® a?>-b?>=(a+b)(a-Db)
@ x*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)



@ (x—y+D(x+y-1)

® (x+y+1)(x-y-1)

@ (x+y+1)(x+y-1)

@ (x-y-1)(x+y-1)



7. -y +4yz- 428 dESstAEY
(x+ay+bz)(x—y+cz) 7t HATE olwf a+ b+ c O] FH-2?

D -1 @ 1 ® 2 @ 3 ® 4



8. a+b=20°l1a(a-1)-bb+1) =62 u, a—b o] gt-& F5}H?

D 2 ® 4 B 6 @ 11 B 16



9. ab-2a-2b+4 ERJAFEIT HORE 22 F127?

@ (a+2)(b-2) @ (a-2)(b+2) ® (a+2)(b+2)
@ (a-2)(b-2) ® (a+1)(b-2)



10. o} 16 — 4x% 4 4xy — y? & A-E3)5HA?

O @-x+y)(4-2x+y) @ (4+2x-y)d-x-y)
® (4-2x+y)(4+2x+y) @ (442x—-y)(4-2x+)

® (A4+2x+y)(4-2x-y)



11.

a?>-b*-2b-1°la® AF7F1 F

W, AR Fe?

® 2(a-b)
@ 2a



12, x2-y?+8y-16=(A)(B) € W, A+ B = x* o] S| & FoIA(H,
x#0)



13. dsF=24 A2

ftlo

HE

flo
il

@ ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)(2+a)

@ -y +2x+2y=(x-y)(x-y+2)
@ 3P+ +x+1=+1D)(x+1)

® x(y-1)-2(y-1)= (x-2)(y-1)



14. -9x% +y* + 6xz— 22 S AFEAMNFAEY (ay - 3x +2)(y + bx + c2)
7F = et olwl, A<= a, b, ¢ ol ot a+ b + ¢ 9] F-= F5HAE?
D1 @ 2 3 3 @ -1 B -2



o Q15 tafahe?
2p2 4 p* 2 Qs
15. a*+a

b?)
2 (a® —ab +
b+ b?) (

a +ab—|—b) az—ab—l—b)
a® +a

D (a? (
zEa 2+ab+b) (a®>—ab-b
@ (a*

® (

2
b+ b?)
b2)(a a
a+ab+



